Determine the reading of the ammeter.
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Determine the current in each branch of the circuit.
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Determine the equivalent resistance between points A and B

in terms of R.




Determine the reading of the ammeter.

@11-
®1,= o
_ %
@;'\+1A-13 G:Sj‘.l.c:[\'
@ 1.+14 = 14
@%
b=21,+31,
@ \'T=\17_+\-’7
Q—Z:lz"’élq.
L =¢1, "'?’I}(SD 6°§1|+313®

-(t =517, +61H)© -(¢ = 21, *'313)@
0O = 313'41‘1

13=21‘l 11.:';,1\
I -.-__I -PI
@I—;"“I\."‘IT @ 11=1‘+(2:I)
(11“){"]\1 -—11' T’q_‘ =t
31\(’11 1-‘--‘2‘1—|
1‘1-':.311 Il= %—IT



n

NI“
-|-\ W
'—

-




Determine the current in each branch of the circuit.
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Determine the equivalent resistance between points A and B
in terms of R.
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